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ES-213: FOUNDATION IN SUBJECTS 
Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. 	Attempt any four of the following in about 
150 words each : 

(a) What do you mean by social change ? Also 
write the features of social change. 

(b) Explain the meaning of international 
understanding. Support your explanation 
by giving an instance. 

(c) Discuss the role of various institutions of 
society and its impact on individuals life. 

(d) Discuss the importance of marriage as a 
social institution. 

(e) Discuss the role of transport systems and 
their impact on a society. 

(f) Explain in detail how education affect social 
change. 
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2. 	Attempt any four of the following questions : 

(a) Find the value of 
2p2qr3 	 —  6pr 

 
t 	m 

(b) Solve the following equation : 
3 (5x — 7) + 2 (9x — 11) = 4 (8x — 7) 

(c) After 15 years Shiv will be 4 times as old as 
he is now. What is his present age ? 

(d) How many sides the following polygon 
consist of : 
(i) Octogen 
(ii) Decagon 
(iii) Pentagon 

(e) The HCF and LCM of two numbers are 
12 and 60. If one of the number is 15, find 
the other number. 

(f) Which of the following is a convex 
polygon ? 

   

/A \ 

3. 	Attempt any four of the following : 
(a) Construct a food web consisting of atleast 

4 food chains. 
(b) What are different types of soils ? How are 

these soils formed ? 
(c) Discuss why is there not an eclipse at every 

full moon. 
(d) Draw the ray diagram and explain the solar 

eclipse. 
(e) Discuss how is the soil fertility maintained 

in ecosystem. 
(f) How does the energy flow in an 

eco-system ? 
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4. 	Attempt any four of the following questions : 

(a) What is simple machine ? Name the 
machines we uses in our daily life. 

(b) How are detergent different from soaps ? 

(c) Explain the process of separation. How a 
mixture of sand, iron filings, common salt 
and camphor can be separated ? 

(d) How is colored glass prepared ? 

(e) How will you prove that air is a matter ? 

(f) Differentiate between renewable and 
non-renewable energies. Support your 
answer with suitable examples. 
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2. 	-1 4--I ortvi 11 -4 .F —t WIT 3179)' d1( "TR 

2p2qr3 	— 6pr  (a) 	 1Tri --d177 I 

(b) 	F-1 1--Ircirigcf  	-w11.77 : 
3(5x — 7) + 2(9x —11) = 4(8x — 7) 

(c) 	15 (14 ollq Pig 	3-19 3Tr*--1 c irk 31T 
-q-rT 4,141 61 , 1, zTr 	-ft-dt t ? 

(d) 	ci 	(go Ari-r 4 f -91-    t? 
(i) 

(ii) 74TW1Trf 

(iii) 

(e) 	(4(.se413-1 4 (-1T-i4-w-icicei .21T 4-11 1-1(-1 4-1141 foh 
sto-RI: 60 .2,TT 12 t" 6'14 	qk 	4(9441 15 t 

7:rft titsql 7fict W-A- 

(f) 	-14-irortga 4 -4 all TIT c:41 3T-d-dF Wej7 t? 

3. 	 4 .4 f.41.* -97 	t 31( q ■TR : 

(a) -1:1 	(51s1 siZE7Ta-ff cilc) 	'Z3T7 ,3-11r1 
fifTh W--4 I 

(b) lqi* -Nraq -sm7 41 -4 t ? 
t? 

(c) 7 IFTIfIRT 	t? 	 7I 
(d) 	.) ftTuT aittgf (5Tticht kzilJtur 	 

WI* I 

(e) Trrf-{-- 	4 	 t? 041ItcAll 

(f) 	Trrirdt 	dr,Ai -5r--a-rt 	t ? 
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4. 	P-p-frori5d 	fwt wrt- 	drIt 	: 

(a) TiRTFEri Trtff a-eql t? 	 gRi 	1-1-i 

-cr-4Tr 	■311 	 I 

(b) 311:FrOW (ftFla), Tf97 .41t) 	t? 
(c) -cpmzb-Tur 	I I  ril 	u, 

1r4rTur 	9-Tr cbv 	firmer  -0 ti4 3T-oTt 
4? 

(d) 	t74 fffr* 	t? 
(e) aTiq 	t? 
(f) 2.1T31-91-fff  	311t1 

tit?I 1c1 1 	317 TcrtZ .0-f-4 
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